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inputC) n(300 101 130)J
V10 =MA(VOLO 5)0
V20 =MA(VOLO 10)0
V30 =MA(VOLO 20)0
V40 =MA(VOLO 30)0
VvV =V1&gtD

V2 AND V2&gt[]

V3 {AND V3&gt[]
V430

A10 =EMA(CO 7)0
A20 =EMA(CO 14)0
A30 =EMA(CO 75)0
A40 =MA(CO 30)0
A50 =MA(CO 60)0
A60 =MA(CO 120)0
AAT =A1&gt0

A2 AND A2&gt0]

A3 [0

EED =(HHV(HO N)-LLV(LO N))/LLV(LO N)O
BBO =REF(EEO 1)&It0
=0.200
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CCO =C&gtOl
O AND C&gtCl

=REF(HHV(HO N)O 1) O

DD =(C-REF(CO 1))/REF(CO 1)&gt0

=0.020

000 O0{VVAND}AA AND BB AND CC AND DDand
(DYNAINFO(54)-DYNAINFO(3))/DYNAINFO(3)&gt[
0.06 and DYNAINFO(41)&gtD
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